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1. QRIHTYT OMR I9T-UFSF YT AT 1. Candidate must enter his / her
T QiTsT F9iF (10 3! asT) Question Booklet Serial No.

HTvT ford | . (10 Digits) in the OMR Answer

' Sheet. |
2. Wl qurdva o vt o a? 2. Candidates are required to give
ST'?? g1 ; their answers in their own words

as far as practicable.

- 3. Qe 3 BRI W ?%'# g7 3FH 3. Figures in the right hand margin

!zvﬁa; ﬁﬁ"!z' WF} é‘ / ) indicate full marks.
‘4 v #i W:dei'v‘ ‘76’# F forw 15 minutes .of extra time have
w?enﬁm% Fl 15 e Fr Siﬁﬁﬁ? been allotted for the candidates to
gHg & mar &1 - read the questions carefully.
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5 F& " Hﬁﬁ‘_ﬂ g @vsl & §— 5. This question booklet is divided

o & Rt 35 nvt @1 IV

3T qfyard &1 35 gt §

H I 4 W W4T 35 FT @

Ol g1 93 & forw 1 s
iR &1 g1 307 37 & foro
39T F74 7T OMR ITH-U5%F o
fw 7o w&t fawow &t A / w1
Fer 97 & wIE F1 fEEt Wt
YFR & WA / AT et /
&g / ARGT AT FT OMR Fwv-
UAF § WET FTAT 7w & srqer
QRTHT RO A= g

. GUE - § H 20 WG IWT W97

& 1 7% ¥ forw 2 o FviRe &,
o @ fE=t 10 wval &1 9%
gar sfvard & 1 37 FfaRke 39
@vg § 6 g I wvT R nd
8, 7% ¥ fw 5 @ FiRa &,
f7d @ =t 3 vt &1 397 3
frard &1

ferdl 7R & AR
1T quiaar afed &

. In Section-A,

JYPIUT hI 8.

INT-A-23/2505-6/10)

into two scciions -- Sexiion-4
and Section-B.

there
70 objective type questions, out
of which any 35 questions are
to be answered. If more than

are

' 35 questions are answered, then

only first 35 will be evaluated.
Each question carries 1 mark.
For answering these darken the
circle with blue / black ball pen
against the correct option on OMR
Answer Sheet provided to you. Do
not use whitener /- liquid /
blade / nail etc. on OMR
Answer Sheet, otherwise the
result will be treated invalid.

. In Section - B; there are 20 short

answer type questions. Each
carrying 2 marks, out of which
any 10 questions are to be
answered. Apart from these,
there are 6 long answer
type questions, each carrying
S marks. Out of which any
3  questions are to be
answered.

Use of any electronic appliances is
strictly prohibited.
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@US - ¥ / SECTION-A

E'Fjﬁﬁi W39 / Objective Type Qge#tioné

YT WA 1% 70 A% & GF Qv % ary 9% fwew Ry g & f ®
W#&immgﬁwwﬁﬁmaﬁom?ﬁzwfaﬁﬂa#fﬁﬁﬁ

350VHT @7 I &1 S 35x1=35

‘Question Nos. 1 to 70 have four options, out of which only one is correct.
You hciue to mark your selected option, on the OMR Sheet. Answer any

' 3.5' questions. 35x1=35
1. Feretfiger o T mﬁaﬁ?aﬁwﬁa% -3

(A) Ag" - ®) Cu?*

(C) . zZn?* | | (D) | Au’

Which of the following ions of trénsition elémenfs is paramagnetic ?

(A)  Ag' - ' (B) - Cu?*

(oY za® - (D) Au*
-ﬁﬂfﬁﬁaﬁﬁﬁﬁﬁwﬂx@mm%?

() Fe,CodR Ni (B) CudR zn
(C) Cu,Ag 3R Au (D) ~Au 3R pt

Which of the following is called coinage metals ?

(A) Fe, Co and Ni 4 \9}/ Cu and Zn
(C)  Cu, Ag and Au - (D) AuandPt

IINT—A—23/2505-¢6f1m [ Page 3 / 32
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“(A)  Slater | y/ Pauling
: (D)

" frtefiaa o @ S TR feis & 2

[ 118

e A 4 T e e mewyt e e 6 7
W 'R - () T

) &R . (D) A

' o g 2
Who gave the first important theory of coordination compounds

(C) . Werner Lewis

 Sefetie @ R O R o I 2

(A) AT 9Ee (B). K, [Fe(CN)g]

© e | (D) G2 TEH

‘Which of the following is an example of double salt ?

(A)  Bleaching powder (B) K4 [Fe(CN)g]

(C) Hyﬁo - (D) Potash alum

(a) - ¥EAE B) . Tl edHR
(€) . UHReE EA (o FfREm

~ Which of the following is a bidentate ligahd ?

(A) ED.T.A (B) Ethylene diainine

(C) Acetate ion (D)  Pyridine

[INT-A-23/2505-(6/101 | " Paged /32 .
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W

[PC,H,)CL, |” # Pt %I affadiaor der &

A +1

€ +3

(A)  +1

(C) +3.

R § @ S Freer domés & 2

(B)

(D)

. (D)

(A) CH,=CH-CHBrCH; = (B)

(C) CH,=CH-CH,CH,Cl (D)

Which of the following is Vinyl halide ?

(A) CH,=CH-CHBrCH, (B)

©  cH =CH - CH,CH,Cl (D)

ﬂ Proteins

o A 2

(a)  FEEIESE (B)

() WA (D)

[

(A) Carbohydrates (B)
(D)

| INT-A-23/2505-¢6/10) |

+2

+4

" The oxydation number of Pt in [Pt(CQH 4)“Cll3 |” is

;@/

» A

+4

l .
CH3_ C= CH2
HC=C—Br

IIBr
CHS—C= CHz

HC=C—Br

T | I3 @l

Lipids

None of 'these

[118]
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R R
A Mo , O
(A) 3 C=0 _ (B) p C=0
R
(C) e B} =0

Which of the following is ether ?

R R
(A) ¢ N =
H/C 10 .@/R/C O
C ™~ N
& o @ >c=0

T SRS SRS % el e T W & Roeeta §
HIH W BT w2

(A)  SSIA - (B)  STgdA Ueehleldd

() T (D) TR

Which of the following is obtained on heatmg aqueous solution  of
benzene diazonium chloride ?

(A)  Benzene - "~ (B) Benzyl alcohol

97" Phenol . (D)  Chlorobenzene

11.

S| HIHE 3T H HE H, SO ﬂ?wwﬁ%mm%a}ﬁqmaﬂ
@ﬁqwﬁﬁ?ﬂ%7 '

(A) CO, o (B) CH,HSO,
(C) Wm (D) €O

Which of the following is obtained when formic ac1d is heated with
conc. H, SO, ? '

A co, (B) CH,HSO,

(C)  Oxalic acid | \}pr co

INT-A-23/2505-(6/10) I Pa.ge 6/ .32
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OH
\)Z&CHS-CH—COOH &1 [UPAC 79 &
' A  SfeEHerm 0000 (B)  2-FEGEE WA 7RI
(C)  WiUHIEH Inw D) ¥ FE T

. H
The IUPAC name of CH~CH—COOH is

(A) Lactic acid ' {B)/. 2-Hydroxy propanoic acid
{C) Propanoic acid (D) None 6f theéc

13, Prefan § @ e 2w o
() [Ag(NH;),]* T8 (8] Cu(OH),
(C) Ag,O | D) Cuo
Which of the following is Tollen's reager;t 5
By [Ag (NH ), ]*ion - (B) | Cu(OH),
(C) Ag,0 | | D] Cuo

14, Frefafaa #§ @ #9 Hiem sifube < e 2
(A) - CH4CHO M{o "
(C) HCOOH | D)  CHyCOCH,
Which of the following gives Cannizzaro's reaction ?
(A) CﬁSCHo _ (B) * HCHO

(©) HCOOH (D) CH,COCH ,

INT-A-23/2505-16/10) Page 7 | 32
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16.

-17.

[118)

ﬁm%f@ﬁﬁﬁaﬁ?mmgzmﬁmmﬁmmﬁ ?
(A) | TR . (B) heerd
©C WH ) e
Which of the following carbohydrates is the most abundant in
nature ? |
(A]_ | _Glucose. | (B)  Fructose
(€C) St‘arch s - \9}/ Cellulose
Frfefiea & @ @ sedes qu F sufem wA§ 2
a)  ThEE ®) éaaw.
© T D) A
‘Which of the fouomg'disaccha:_ides is present in milk ?
(A)  Sucrose B Lactosc
(C) ~ Maltose ' (D)  None of these
et 4 1 T A e E A )
@ e T s
(€ T I o) e
Which of the following is the chemical name of vitamin A ?
(A) Thiamine | (B)  Retinol
\9}/ Aécorbic aci& (D)  Nicotinamide

INT-A-23/2505-6/10 | Page 8 / 32
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18.  frfeifEa & / A faefim wm & oo § 2

&) AIRB B) C 3R D
C) BIRC D) AR D
Which of the following vitarnins are soluble in water ?
A AandB B) CandD

( ~Band C (D)

19. ﬁmmﬁﬁ%aﬁmﬁqmﬁaﬁm% ?

Aand D

_(Al' qEaizs (B) TN
© g - o) TR
From which of the following is insulin secreted ?
(A)  Thyroid | ) - Dricrens

(C)  Adrenal body (D)  None of these

20. ﬁaﬁqmﬁa:tﬁ@ﬁnﬁﬁﬁaaﬁﬂmmﬁm% >

(a) =- o | (B) Wl |
© o g . p vEmiw
Which of the following diseases is caused dile to the deficiency of
Vitamin E? © -
(A)  Beri-beri \/ Scurvy
(C) Anti-fertility (D)  None of these

IINT-A-23 /2505-6/10) I : Page 9 / 32




21.

22,

(118

WFiash TR Frefelad & @ fraer ago® € 2

(A) TR (B) AT T
(C)  JTZET &7 (D) =0 ¥ B el
Natural rubber is a polymer of which of the following ?
(A}  Ethylene . (B) Benzene
’.(-9/ Isoprene (D)  None of these
CH, ) |
CHa—«{:—Br T [UPAC 9 &
CH,

(A) Zf'srzr& FieeT TS
(B) WHUIH FHfeer FoiRES
(C) 2-Fmr-2-nfrer Wi

(D) 2, 2-SEAY- 1-FmHgEE

_ CH, _

The IUPAC name of CH_.,—-%:—Br is
CH,
(A) Tertiary butyl chloride

(B) Secondary butyl chloride

(C) 2-bromo-2-methyl propane

\9/2, 2-dimethyl- 1-bromoethane

INT-A-23/2505-(6/10) Page 10 / 32




23.

24,

25,

(118 ]
Qfeeret &TEE T I Frferfiaa F ¥ s frtor & @ ¥ 2
@ T (B) UehH

Alkyl halides are used for the preparation of which of the following ?

(A)  Alkane | (B)  Alkene

(C) Alcohol N _ (D)  All of these

refeifian 3 4 fovw s 1 9 f-amt ¥ 2

(A} CHjCl’ ' . (B) - CHCl,

© ccl, (D) CH,Cl,

Which of the following compounds has zero dipole moment ?

(4 CH,a . h&'/cmcl3

(%. ccl, . . (@ CH,Q,

fores e er &5 e AR & T M d

() Ui ) T

© uH (D) W

Chloroform on reduction with zinc and water givcg.’
(A) Acetylene (B) Ethylene

(C) Ethane ' | (D)  Methane

: iINT-A-23/2505-(6/101 l _ " Pagell/ 32




26.

27,

28.

[118|
Frefefaa o ¥ ®i9 smareient wiwor @ 2m 2
(A) WIS telee . (B) WA

€ T | (D) AT TehlEt
Which of the following wi]l‘ not give iodoform test ?
(A)  Isopropyl alcohol ' (B) Ethanol
(C) Ethanal (D) ~ Benzyl alcohol
FIe-2-31 & o

&) YRR TERRE 0 () OPved Towed
(€ =R cewee (D) SHERfEE Tohd
Buta:lu—-2-lol is a |
(A)  Primary alcohol | \_LB‘J/ Secondary élcohol
(C)  Tertiary alcohol | (D) Dihydric alcohlol

Preffa o R 1 1 F geeler &
(A) CH,OH | (B) CHCla

(C) ccCl, - (D) cs,

Which of the following is soluble in water ?
(A) CH3OH (B)  CHCl,

© cci, (D) s,

INT-A-23/2505-(6/10) ' Page 12 / 32
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20. freeda O F o HEw At ¥

© e D) 4

The total number of crystal systems is

\()‘/7 o B) 8

) 6 (D) 4
@//ﬁqﬁ@aﬁﬁwmm% )

W dw o B) ﬂ“

(©) Wifsad RS (D)

Which of the following is a covalent solid ?

| __u.tr Iron (B}~ Diamond
/(C) Sodium chloride (D)  Copper
@ et g v i Ao e % o e e &
| \/L&}/ 5. - - By 4 |
(C) 8 ; (D) 12

The coordination number of a metal crystallizing in a hexagonal close

packed étrucmre is

L © -8 \pr/ 12 i
' ]INT-A—23/ 2505-6/10) I Page 13 / 32
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32. ﬁm%i%gaﬁ@mmﬁaaﬁ% )

(A &9 + e
B) - Prumet eowet + Suee aewEd
\_@/mﬁ+wﬂ={

(D) T 2@@‘([33 + Tofee 2ereirge

Which of the following is 'not an ideal solution ?

(A) = Benzene + Tr.::luene

(B)  Methyl alcohol + Ethy! alcohol

‘(C) Chloroform + Acctoﬁe

(D) : Carbon tetrachloride + Silicon tetrachloride
33/, Frefeiam % % w adurra feeh & e € 2

(A) '%amm%am B ﬁﬁﬂ%aﬁ[‘

(€ wifest s o WW

- Which of the following can pass through semi-permeable membrane ?

_(8) Solvent molecules ®  Solute molecul_cs
(©) Complex ion (D)  Siple ion | |
GQ af% 18 g'WﬁiOOOgmﬁwm%, ammﬁmg |
(A) 1HeR | (B) 0 Hieter
(© ©017wRR S DO 057w

IINT-A—QS /2505-(6/10) .. Page 14 / 32
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If 18 g of glucose is dissolved in 1000 g of solvent, then the solution
is said to be |

(A) 1 molar 801 molal
! o ]

/7
0-1

molar (D)  0-5 molal

- 35, ﬁﬁ%ﬂﬂmmaﬁmm?

(a) T H 19 TR (B) W H 1% GHI
(€). T H 1% NaCl (D) AT 1% JRar
Which of the following will have highest boiling point ?

(A) 1% glucose in water (B) 1% sucrose in water

.\p/l% NaCl in water | (D) 1% urea in water

s6. Pt 3 @ R sl 3 Qe e 8 & 2
(A) CH,CHO (B) C,HOH

() CH4CHOHCHj, (D) CH,OH

" Which of the following gives Acetone on oxidation ?

i CH,CHO B) C,H OH
(C) CH,CHOHCH; (D) CH,OH

37. -mmmmﬁw%
(A) — NH — (B) _NH2

© NH, D)  NH}

[ INT-A-23/2505-(6/10) | Page 15 / 32




x/)//:*NH- | B —NH,

38.

39.

40.

[118)

The functional group of secondary amine is

NH, (D) NHj
, .

CHy~CH~ CH, % [UPAC ™ ¥

NH, | _ _
(A) Wi i . |) smEEiee TE
(C) ANF-2-UHN - D) SH-1-UHA
The IUPAC name of CHS—(FH—CHQ, is

NH, |

(A)  Propyl amine (B)  Isopropyl amine

M opan-2-amine (D)  Propan-1l-amine

et O 9 afifear fred sfveds § w0% W RreetE o Q@
ST TG E 2

A) THTERA (B) U Iege UHH
©) T Jvsh e D) T d T

Priméry amine on reaction with Grigtiard reagent gives which of the
following ? |

(A) An alkane (B) A higher amine u

(C) A secondary amine (D}  None of these
frefafad § G weel SR A E 2

(A)  CHNH, ~ (B)  (CH,),NH

(C)  (CH3)3N (D) NH,4

INT-A-23/2505-(6/10) | * 'Page 16 / 32




41.

42,

[118]
Wh‘.lch of the following is the most basic ?
(&)  CeHgNH, " (B) (CHg),NH
(©)  (CHy),N (D)  NH,

forfetaa # &1 fewert sfweds ¢ 2
(A) S HoIH S (B o RIS
(©  pIEE TR FAEE (D) T AP

 Which of the following is Hinsberg feagcnt ?

(A) Benzeflé sulphonic acid
(B) Benzene sulphonamide -
(C)  p-Toluene sulphonyl chloride

(D) -None of these
aaﬁﬁ\zmm:aﬁe:ﬁamarzmwﬁméaﬁ%aﬁﬁmﬁf@ﬁﬁ

A TAME 2
Ay QERA ) Hfger THA
) el D)

Which of the following is formed when acetamide ré:acts with
Br, / KOH ?

- (A) Acetone (B) Methyl aminc

(C) Acetaldehyde (D) Ammonia

Nacm%arvawaasaqamﬁmmﬁzﬁmwmga'
B g ? .y |
(A) a»:——ﬁﬂ? | - ® difeam
-(cy_ difegn me™ (D) BEGNH

iINT-A-QS 712505-(6/10) | | Page 17./ 32
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— E ’ 1 s-
)Which of the following is deposited at cathode on electrolysis of

44,

45.

aqueous NaCl solution ?

(A} Chilorine B}, Sodium
(€)  Sodium amalgam \_@/ Hydrogen
Pt i frerae o e s e e 2
(8) A ey (B ¥d TR
(O H,0 3 (D) d@E®ER

Which of the following conducts electricity in a solution ?

| (A) Electrolytes (B) Non—eleptrolytcs
(C) H, O molecules (D) - Copper ;vvire
A, B, C 3R D el % e soweis g o -3-05 V, - 1:66 V,
—040vaﬁt+osva’lw%ls=lﬁﬁmmqa%’rmmﬁrm
aﬁﬁa E‘?Fﬁ ?
A A : B) B
© c | - D) D

The standard electrode potentials of A, B C and D metals are

-305V,-166V, -040Vand + 0-8 V respectively. Whlch of the
e —— e

following would have the h1ghcst reducing power ?

A A , (B) B

\}/c‘ | ©O) D

i INT-A-23/2505-s; 10) | Page 18 / 32
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46. Rl =TeTehcel W7 1 - fReies g ®

A 1/A | B) A/l

(C) I xA . (D)

» |

The cell constant of a conductivity cell is

Wua B an

. IxA ' R
€ | | .o

‘wmﬁa?aﬁﬁWQMB—»c#a?aﬁﬁqﬁfﬁgaﬁﬁmw
 frefra fn o wewer € 2

(A) _1d[A] ' (B) —d[B]

.2 dt | : dt
o) T ¥ wd

The rate of chemical reaction, 2A+B—C can be represented by

which of the following ?

_14d[A] | (B) -d(B]
dt dt
+d[C] |

D), All of these

48. wmmﬁmmﬁm-m@mﬁam-
FITHT%: -

AT = KM]{gF,HﬁA%Wﬁ@@BWWWH

fear =g, @t AT |
W FEASME @  Fo @ S E
o @t 0 @O ATHATEE

INT-A-23/2505-6/10) | Page 19 / 32
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[118)

The rate law equation of a chemical reaction is represented as
Rate = K[A][BJ°. If the concentration of Bis trebled keeping that of

A constant, then rate becomes

(A)  double (B) trebled

(C) ciuadmplcd | (D)  nine times

el Tt s wn an femie Frefefiaa § @ fem w0 Fnfk
CFATR ? '

(A) @ | | | B) HE

€ WR o (D) W

The rate constant of a chemical reaction depends upon which of the

following ? v
. ﬂcmporamrﬁ ) (B) Mass

50.

S1.

(C)  Weight (D)  Time
N T T AR A ¥ :

) faxme - B) THeRe
(C) U o (D) T

The important oxide ore of iron is

- (A) Siderite | ' @/ Haematite

(C)  Pyrite D) Bauxite

frfefiaa # @ forem ST i Sl s + 23 )

(A)  F,0 (B) Cl,0

() Na,O, D) Na,O

_ IINT—A-QS /2505-(6/10) I Page 20 / 32
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In which of the following oxidation state of oxygen is + 2 ?
(A) | F,0 (B) Cl1,0
(C)~ Na,O, (D) Na,O
52. Ffefad & @ #i9 Heanfdes s e 2
- (A} He | " (B) Ne
C) Xe . B3 D) Rn
~ Which of the following is a radioactive noble gas ?
' Vw/ He : B Ne
€ ‘Xe D R
53. Tyefefaa ¥ @ few Icre o & gRT qod SR AT SR T 2
(A)  He (B) Ne | |
() Ar (D) - Xe

By which of the following noble gases the maximum number of

compounds have been formed ?
(A) He (B Ne
ﬂ Ar | @k Xe
54. ﬁmﬁa@aﬁ@ﬁﬂgﬁua‘!ﬁﬁﬁ? |
) SO, B SO

(C) BF;. (D) CO,

INT-A-23/2505-6/10] | T Page 217/ 32
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Which of the following is a polar compound ?

o BRy . D co,
55. frmioiad & @ # gow g St 57 e & 2
A Ni | . B Ac-
€ cd __ L (D) Au

Which of the following is a member of first transition series ?

@ i S B A
© cd | D) Au.
56. Cu?* (2= 20) 1 et foam &
(A) [.lsAr] 3d®as' ._(B] [ 1gAr ] 5.:1745_'*’
© Al - @ l18Ar | 384521

The electronic configuration of Cu?* (Z= 29) is
jk( [18&_]'3(18431 o ® [133r15d7432'
-~ (©) 113.Ar.] 3d° _ ; ,l (D)  [,gAr] 3d54324p1
57 Prefefen 4 @ fewd fem Ay )
& M B) AFEAR
(€) WM D) SHeme.

[INT-A-23/2505-/10/ | " Page22/ 32
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99.

60.

(118 ]

Which of the following contains ester linkages ?

(A)  Terylene (B) * Nylon :
{©) Teflon (D)  Bakelite

frfefigd T @ I 19 §3 WS € 2
(a) | TEEH 6 @ T e6

© W o) drEE.

Which of the .following is a thermosetting plastic ?

®) Nylon6 | | (B) Nylon6,6
\9/ Bakelite " @ PVC

Rrfefae § B TS € 2 |

(A) TTA " (B) .mﬂﬁﬁﬁ 6, 6

(C) %ﬁ?ﬂ? - (D) HEoTE

Which of the following is a polyamide ?

(A)  Teflon | @ Nylon 6, 6
() Terylene . (D) Bakelite

Wﬁﬂmmmamﬁm%?
(A) AT eREENES | B) - REaied
© fafeet | (D)  EEHIEES

[INT-A-23/2505-(6/10 ] Page 23./ 32




Which of the following is used as an
(A)  Magnesium hydroxide

(C) Penicillin (D)

[ ]-18]

antacid ?
(B) phinacctin

Sulphanilamide

\eW/ﬁw’h%w

a) Ufcrirfes egieET *(Bi nﬁtﬂﬂﬁﬁ
© UeferR s (@) o |

Saccharin is a/an

(A) Aliphatic hydrocarbon \(/Bj/ Sweetening agent

(C)  Polynuclear compound (D). Sugar

Freaferfia 3 % R ST A 3 B A T E 2

62.
87" CHgCo0Na B €, H,,C00),Ca
() C,,H45COOH (D)  C,gH;;COOH
mch of the following Iis used as a soap ?
(A)  C;;H;5COONa (B)  (C;;Hy5C00),Ca
(C)  Cy7H35COOH (D) C,gH,,COOH
63, frefetaa o & @i wfasiadiens § 2
(a) I . B fufes apg
() foee B O FHIH
INT-A-23/2505e110, T
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65.

(118]

Which of the following is antioxidant ?

" {A) . Lecithin

(B) Citric acid

(C) Vitamin E (D)  All of these

s e ) sl & fore ot o
() o feri® w AR T s
(B)  WRTWe Wigor W i T e
() mﬁmﬂmmﬁﬁ?m%

(D) 9 q |4l
The half life of a first order reaction
[A] does not depend upon rate constant

(B)  does not-depend upon initial concentration

7 depends upon initial.concentration
all of these | | )

TR @t fafy & aﬁﬁm%ﬁﬁmﬁﬁmﬁ%ﬁaﬁﬁéﬂ?mﬁm
B g ?
(A) aﬁ%mnﬁﬂm (B) WIeESAH F WA TEST

(©) Fret =1 T TR D) t@lﬁ?ﬂﬁﬂ%ﬁqm

Which of the following cétalysts is used in the manufacture of NH 3 by
Hﬁber‘s prog:ess ?

\}\/ Finely divided iron (B) Finely divided rﬁolybderﬁum

‘(% Fmely dnnded nickel . (D) Finely di%_fi_ded platinum
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éﬁ%ﬁﬁ@%&ﬁﬁt%ﬂﬁﬁ@ﬁﬁﬁﬂ?ﬁ%mm% ?

(A) . UIHT (B) e

() 3T . D) SeEeE

By which of the following processes colloidal sols are plj!’iﬁCd ?
oy i '

(A Peptisation y Coagulation

(C)  Dialysis ' (D)  Flocculation

67. zgsqummamaﬁmmﬁ@%HWW'mm
A gy g 2

(4)  H, | (B CH,

(€ €O, (D) NH

3

The highest volume of which of the followmg gases would be

adsorbed by 1 g of charcoal at 298 K ?
(A) H, : ‘(_9/ CH,
(C) CO, | (D) NH

68. mgﬂwﬁqfﬁﬁgaﬁ#mmm% ?

3

(A) A (B)  HrHieT

© = D) e
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70.

[118]

Pyrolusite is an ore of which of the foﬂowing ?

(A) Magnesium . | (B) Manganese

" (©  Zinc | (D) Iron

%*mﬁwmwmﬁm%ﬁmm
ﬁmaﬁaﬁﬁ%

(A) e B) WA

© Fr=r= o) FweE

The process of reduction of a metal oxide by carbon or carbon

monoxide to the metal is called

y . .Smé]ting' . | _Mﬂaﬂing

(é) Calcmatmh ; (D}- Leaching
Wﬁ%ﬁﬁhm%ﬁwﬁ%hwfaﬁ:mmﬁn
BT € ?

(A) Cr - . (B) Ag
© Cu | (D)  Zn

Cyanide process is used for the extraction of which of the following

"metals ?
(A) Cr | (B) © Ag
(C)~ Cu AL (D) Zn

[INT-A-23/2505-(6/101 | ~ Page27/32
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@ug - ¥ / SECTION - B ' |

B | ﬂw / Short Answer ﬁpe Questions
el 1#208133?%#:&——# 10 gy & A T | RF F fory

2 3w fraifa & : _ 10 X2 =20
Question Nos. 1 to 20 are Short Answer Type.' Answer any 10 questions. Each
question carries 2'marks : 10 X 2=20

Kﬁﬁmmwﬁvwﬁﬁmaﬁrﬁﬂw@mw

Hafya & 2 | 2
What is molal elevation constant ? How is it related to molarity of a
solution ?

2. YU 3OS SHU q 1 47 99214 & 2 2
What do you understand by abnormal molecular mass ?

What is peptization ?
\7 gy fpd wEd € 2 T TR & | | o,
WHhat is sorption ? Give an example.

yu@mw%? o o 5

What is slag ?

[INT-A-237/25056/10) Page 28 / 32
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V'mmaﬁmﬁmmm@a@ﬁz]ﬁ? >

) Nobel gases have comparatively large atomic radius. Why ?

/ TR 3 =1 & 2 Ei:m 3 B 2
What are Cﬁ?».talﬁne soiids ? Give exa;mple.

'\&/‘ﬁgmﬂmwmﬁ%? | - 2

What do you understand by point defects ?
9. ﬁaﬂﬂaﬁaﬁmq&mﬁméﬁéamckaﬁaqﬁ?ﬂ%{ﬁmﬁww
T & 2 i ) | . 2

What is formed when benzene reacts with ethyl bromide in the

presence of anhydrous AlCl; ? Give equation.

10. OTeR Uehiee S € 7 fos 2
What is power alcc;hol ? |

11, S9rEE ael @t WE AEEEI FeRd 11§ 2 | ’ g
What are the _.im'porta.nt oxidation states of lanthanide elements ? |

\%/ fogy T 3l St T 3 SRR o | 2

Explain the diﬂ'crcr;ce between a double salt and a w.

13, dvcid TR H g ST 7 | 2

Give two examples of synthetic rubber.
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14, 'v&twmmﬁi? - 2
| What are preservatives ?
1S, NH,, CoHgNH,, (CoHg)NH T (CoHg)yN # g & agd 9 1
gt | 2
Arrange NH,, C,HNH,, (C,H.),NH and (C,Hg);N in the
increasing order of their basic strength. .
16 s gl T - 2
What is denaturation of proteins ?

17. iﬁﬁrﬂw%‘mﬁﬁﬂaﬁm@,wm%l 2

G-ivc an exaxhple of a solution of a gas in solid. ' ‘ ,
ym@mmw wAE? L )
" What are isotonic solution ? |
19. Ww%?mmmﬁmmwwm%? 2
~ What is soap ? How does it .?lct in cleansing cloﬁlés ?
(ﬁ/ﬁ@nﬁwﬁﬁrﬁmmvﬁm%&%m%? 2

How are metajs-rcﬁned by Bessemerisation ?
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.ﬁé S e / Long Answer Type Questions

v 21#26a?#3aﬁwmé‘:ﬁsrﬁ3ma}dr3w%!m$
fore s i Fraifta & - 3x5=15

Question Nos. 21 to 26 are Long Answer Type. Questions. Answer any
3 questions. Each question carries 5 marks : 3x5=15

21, HAGRAT F AT W a9 H FFY THR T9E g3l € ?am%ﬁwm

ML 2 - 2+3

What is the effect of temperature on reaction rate ? What is Arrhenius
equation ?

22.;%—@1!1?—\?%@% > U faga-TREts dof  aEe H A
ﬁl ‘ 2+3

What is electrochemical cell ? Explaixi the structure of an
electrochemical cell. . '

2}/@; m#ﬁﬁ:ﬁww%mmﬂmmadﬁlﬁl 3
(i) sitifeE 3l & T Wi THEneT &t afafear fod | 5

: \}»/ Explain the principle of manufacturing suiphuﬁc acid by
C ct process.

f

) Write the reaction of conc. sulphuric acid with oxalic acid.
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26.

[118]
“Yrgrm wt & TR aAgTEEE vd O B E 1 20 5

"Compounds of transition clements are paramagnetic and coloured.”
Explain, °

Tarafes qleron 3R HEfafaa et 5. 59 g w31 2 2 x 2}
()  wMcesEe td tHfeess
(i) UHRfoTEEe @ dHie |

How would you distinguish between the following compounds by
chemical test ? -

(i) Formaldehyde and Acetaldehyde

(11) Acctaldehyde and Acetone.
7 <1 Qfegerse St et S Sar ST e &1 o wE o s

"FonWea both as an aldehyfie and an acid.” l:Bxpl_ain.
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